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Part I. Do TV shows with violence worsen memory for commercials (=reklamlar)? To answer this
question, researchers divided 324 adults randomly into two groups of 162 each. First group watched
a TV program with a violent content rating, and the second group watched a neutral TV program
(for general audiences and no violent content). There were 9 commercials in total. After viewing the
program, each participant was scored ranging from 0 (no brands recalled) to 9 (all brands recalled).
The researchers compared the mean recall scores of the two groups.

1. (5 points) Is this an experiment or an observational study? Explain in at most two sentences.
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2. (5 points) Is it controlled? Explain in at most two sentences.
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3. (5 points) This study may have been conducted double-blind, although not explicitly stated
above. Explain how it can be conducted double-blind, in at most three sentences.
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4, (5 points) The mean score of the first group was found to be smaller than the mean score of the
second group. What general conclusion can you make? State in one sentence.

o oan dom! z_e..c\ wf)%{mm+/

SSynce Y\l s PUT- 3
\
€ Cones S a et TV _S‘L\ a w2l L s
v%\ﬁ\eg"‘\ e a0 - Shon M B .—-‘Bw (g._o v (s (-—.,(\,-.‘_Qj‘tla'f){ \£

YO 3@3_\""1 Q.f“os.\ )

5. (5 points) The 95% confidence intervals were formed separately for each group. The confidence
interval for the first group was found to be wider than the confidence interval for the second
group. If the standard error of the first group is 0.4, what can you say about the standard error of
the second group?

@ Smaller than 0.4  b) Approximately equal to 0.4  ¢) Larger than 0.4

Explain briefly. \
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Part I1. (25 points) The following is a frequency table for data collected on the number of hand Qi
injuries due to using a computer keyboard. Each subject reports the total number of injuries s/he has

suffered Qver a per iod of a year. 7 g K8 2 A 4L O

B IS O AV 1 IR e e T e
Class Interval 0-2 — 810 1120 21-40 41-80
(number of injuries) '
Frequency 15 69 86 ) 80 50
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2. (5 points) Is the median likely to be larger or smaller than the mean? Explain in one sentence by

rveferring to your histogram.

S IR S SCER S JI‘°>§rcm- 15 F‘J‘g LA — tal Qc\/ |
Ll L c;c’ (;/L' aavs é,';a,__ Yo ke _E:r*«ven-\\\.Q.J“" -1\,.\% \"L,t_ QU -

3. (5 points) In which interval is the 25™ percentile? Explain how you found it.
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4, (5 points) The standard deviation of the data set is found to be 18.7; accordingly, fill in the
blanks in the following:

The mean number of injuries in the Popula.vo ™ can be estimated by the
awvi Y 2. mean, give or take, {,0¢
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Hint: Use “sample” and “population” in two of the three blanks above.
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Part IIL. (2(} points) A study has been conducted to measure the coping (=bas etmek) skills of
caregivers when living or caring for a chronically ill patient. The scores for coping skills are found -
to be normally distributed with mean 1.7 and standard deviation 0.6. ‘

1. (7 points) Find the percentége of scores between 1 and 2.
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2. (6 points) The 10" percentile of the score distribution is considered as the cutoff score between
~the caregivers who can and cannot cope with caring for a chronically ill patient (lower scores
indicate coping less). Find this cutoff score.
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3.(5 points) A caregiver with a score of 3 or more is said to cope very well. What is the probability
that a randomly selected caregiver can cope very well? ‘
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4. (2 points) “The scores of a random sample of caregivers are expected to have an average score of
1.7 and a standard deviation of 0.6, and an approximately bell-shaped histogram.”
True or False, why (one sentence only)?
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Part IV. (20 points) It is well known that income distribution has a long right tail. In 2005, average

income in US was reported as $60,000, standard deviation of income was $40,000, the median was
$54,000, and the 75" percentile was $90,000.

1. (5 points) Indicate if the following Statements are True or False, and why?

F The standard dev1at10n is a better indicator of varlablhty than the mterquartzle range.
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E A histogram of many sample.- averages, say from samples of size 200, also has a long
right tail. :
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2. (3 pomts) What is probablllty that a randomly selected individual from US in 2005 has an
lncome over $90,0007? What about over $54 000?
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3. (7 poinfs) What is the probability that a randomly selected sample of 50 individuals from US in
2005 have an average income over $54,000?
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4. (5 points) Construct a 95% confidence interval for the average income level of the population
using a recently obtained sample of size 50, which has a mean of $74,000 and standard

deviation of $45,000.
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PartV V. 20 pmnts) In Unlted States (US), it has been found that 80% of all home buyers want a
ﬁreplace in thelr homes.

1. (2 points) In a random sample of size 100 from US, what is the expected value of the percentage
of home buyers who want a fireplace in their homes?
s RO
2. (7 points) In a random sample of 100 home buyers in US, what is the chance that at least 70 of
them want a fireplace? 4 Lot SR P R
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3. (8 points) In Turkey, a recent survey of randomly selected 93 new home buyers indicated that | o0

37 of them wanted a fireplace. Find a 90% confidence interval for the percentage of home
buyers in Turkey who want a fireplace in their home.
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4. (3 points) Does the interval you constructed in Question 4 contain the true percentage of home

buyers who want a fireplace in Turkey, or not? Explain in one sentence.
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